PARTS LIST

ITEM QTY PART NUMBER DESCRIPTION STOCK NUMBER
1 | 1 TB-200-444 1400 X 95 X 95 (RH) COMTIMSAW0022
2| 2 TB-200-445 850 X 95 X 95 COMTIMSAW0022
3 | 1 TB-200-446 1400 X 95 X 95 (LH) COMTIMSAW0022
4 4 [TB-200-447 495 X 45 X 195 COMTIMSAWO0004
5 | 2 TB-200-448 495 X 45 X 195 COMTIMSAW0004
6 1 TB-200-449 495 X 45 X 195 COMTIMSAW0004
7 1 TB-200-450 625 X 45 X 195 COMTIMSAWO0005
8 3 TB-200-451 475 X 45 X 195 COMTIMSAWO005
9 1 |TB-200-452 435 X 45 X 195 COMTIMSAWO005
10 | 2 |TB-200-453 435 X 70 X 70 COMTIMSAW0022
11 | 4 MT-300-025 ANGLED BRACKET
12 | 6 M6 X 70 TORX WOODSCREW | 70MM TORX WOODSCREW | COMA2WS6X70
13 | 20 M6 X 80 TORX WOODSCREW |80MM TORX WOODSCREW | COMA2WS6X80
14 4 M6 X 100 TORX 100MM TORX WOODSCREW  COMA2WS6X100
WOODSCREW
15 M8 X 50 TORX WASHER |50MM WASHER SCREW | COMA2WHSX50
HEAD
16 M12x120 GROUND ANCHOR |M12 GROUND ANCHOR
k aininiaiatiil ()
%X@Tﬂg r j@z)@ a%® &
—
N N VRN
o
S S
=

SURFACE LEVEL

Jd &d

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

1 DECIMAL PLACE: +0.5MM

485

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-076 CASTLE CHAIR

Product Range:

OUTDOOR FURNITURE

[Bimmsiims |

™~

r/

imagination comes to life

FFH = N/A

DO NOT SCALE FROM DRAWING

Date:

08/04/2019

Page:

1

A3

Tel: 01354 638359 Fax: 01354 638464 www.fenlandleisure.co.uk




WORKSHOP ASSEMBLY

1. AS ILLUSTRATED BELOW, INSERT EACH TIMBER PANEL TENON INTO THE MORTICE
CREATING THE BACK REST OF THE CHAIR. USE THE SUPPLIED FIXINGS TO SECURE
THE TOP AND BOTTOM BOARDS TO THE UPRIGHT POSTS (ITEM 1 & 3).

0§'| b \
N P X
QP
S
N
( s\\"l
B e
= |
/ . /
ZZh

2. USING THE MORTICE AND TENON, INSERT THE ARMS INTO THE LARGER UPRIGHT
POSTS (ITEM 1 & 3) AND INTO THE ARM UPRIGHT POSTS (ITEM 2).

3. CREATE THE SEAT BY SECURING ITEM 9 TO THE BACK REST AND ITEM 7 TO THE
INSIDES OF THE ARM UPRIGHTS ITEM 2. WITH THE SEAT SUPPORTS IN PLACE, SECURE
THE SEAT (ITEM 8) TO THE SUPPORTS USING THE SUPPLIED FIXINGS.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:

LINEAR: +2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-076 CASTLE CHAIR

Product Range:

OUTDOOR FURNITURE

| - i

_imagination comes to life

™~

DO NOT SCALE FROM DRAWING

Date:

08/04/2019

Page:

2

A3

Tel: 01354 638359 Fax: 01354 638464 www.fenlandleisure.co.uk




SURFACE FIXED INSTALLATION

4, USE THE SUPPLIED FIXINGS TO SECURE THE L-SHAPED BRACKET TO THE INSIDE
EDGES OF THE CHAIR POSTS.

5. MARK THE POSITION OF THE HOLES AND DRILL A @12 X 130 DEEP HOLE INTO THE

LEVEL CONCRETE BASE. INSERT THE GROUND ANCHOR AND REPLACE THE UNIT OVER
THE HOLES. SECURE IN PLACE USING A M12 X 120 HEX HEAD BOLT.

850

1400

INSERTED.

294

565

6. ENSURE THE UNIT IS LEVEL AND PLUMB AND ALL PROTECTIVE CAPS HAVE BEEN

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR: +2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-076 CASTLE CHAIR

Product Range:

OUTDOOR FURNITURE

| - i

_imagination comes to life

™~

Date:

08/04/2019

Page:
3

DO NOT SCALE FROM DRAWING A3

Tel: 01354 638359 Fax: 01354 638464 www.fenlandleisure.co.uk




